$$\frac{\left| \text{edure XXV: § 1.1 The intuitive meaning of integration error§ 7.2. The area between two curves
Recall Turndominial Theorem of Calculus: If high] $\rightarrow \mathbb{R}$
is continuous, then $A_{(x)} = \int_{0}^{x} f_{(1)} dt$ is the
signed area of the regime between the peak of F
is continuous, then $A_{(x)} = \int_{0}^{x} f_{(1)} dt$ is the
signed area of the regime between the peak of F
is continuous, then $A_{(x)} = \int_{0}^{x} f_{(1)} dt$ is the
signed area of the regime between the peak of F
consequence 1: The peop of FTC should that $A_{(x)}$ is an antiderivative
of Five , so $\frac{R'(x) = F(x)}{P(x)}$.
Example: (j suct dt)' = in x. (impere with FTC j suct dt = -int \int_{0}^{x}
 $= -inx + i$
(misquence 2: $(\int_{x}^{a} f_{(1)} dt)' = (-\int_{a}^{x} f_{(1)} dt)' = -(\int_{a}^{x} f_{(1)} dt)' = -h(x)$
 \cdot If F is entimeous R $u_{(x)}$ is differentiable, then:
 $\frac{d}{dx} (\int_{a}^{\infty} F(x) dt) = F(u_{(x)}) \cdot u'(x)$
Why? (LHS) = $\frac{1}{dx} A(u_{(x)}) = A'(u_{(x)}) \cdot u'(x) = F'(u_{(x)}) \cdot u'(x)$.
Reample: $\int_{a}^{x} \sin t dt = a \sin(x^{3} \cos x) \cdot (3x^{2} - \sin x)$.
Q what about differentials?
 $dA = A' dx = F dx = signed area of the reatingle with
 $= \text{clument of area'}$
 $\frac{d}{dx} (\int_{x}^{u(x)} f_{(1)} dt) = f_{(u_{(x)})} u'(x) - f_{(x_{(x)})} u'(x)$$$$

Why? Add an intermediate print!

$$\int_{v(x)}^{u(x)} f(t) dt = \int_{v(x)}^{a} f(t) dt + \int_{a}^{u(x)} f(t) dt = -\int_{a}^{v(x)} f(t) dt + \int_{a}^{u(x)} f(t) dt$$
So, $\frac{d}{dx} \left(\int_{v(x)}^{u(x)} f(t) dt \right) = \frac{d}{dx} \left(-\int_{a}^{v(x)} f(t) dt + \int_{a}^{u(x)} f(t) dt \right)$

$$= -\frac{d}{dx} \left(\int_{a}^{v(x)} f(t) dt \right) + \frac{d}{dx} \left(\int_{a}^{u(x)} f(t) dt \right)$$

$$= -f(v_{(x)}) \cdot v'_{(x)} + f(u_{(x)}) \cdot u'_{(x)}$$
Insequence 2
$$= f(u_{(x)}) u'_{(x)} - f(v_{(x)}) v'_{(x)}$$

$$\frac{Simplest examples}{(1) f(a) = g(a)}, f(b) = g(b)$$

$$(z) For a < x < b f(x) > g(x)$$

$$\frac{JA}{f(a) = g(a)}, f(b) = f(x)$$

• Height of each strip:
$$f(x) - g(x) > 0$$

• Length of each base = dx
• Area of each exchangle = $(f(x) - g(x)) dx = dA$
So Area = $\int_{a}^{b} (f(x) - g(x)) dx$.

EXAMPLEI: $g(x) = x^2$, f(x) = 2x. Find the area bounded by these zourses: <u>STEPI</u>: Draw the curses & find $a \ge b$, = points where the z curses met.

$$\begin{cases} y_{1}(x) = F(x) \\ y_{2}(x) = F(x) \\ x^{2} = 2x \\ x^{2}-2x = 0 \\ x(x-2) = 0 \text{ ms} \quad a = 0 \text{ e b} = 2 \end{cases}$$

$$\frac{y_{1}(x)}{y_{1}(x)} = x^{2} \text{ where in the largen in } [a_{1}b_{1}]. \text{ We don it by produces a superior in between .}$$

$$\frac{3}{3} \text{ GL} \quad \frac{a+b}{2} = 1 \quad g_{1}(y) = 1^{2} \text{ vs } F_{1}(y) = 2 \text{ mss } g_{1}(y) = f(x) \text{ for } 0 < x < 2 \text{ for } 0 < x < x < 2 \text{ for } 0 < x < x < 2 \text{ for } 0 < x < x < x & x & x & x = 1 \text{ for } 0 \text{ for } 0$$

EXAMPLE 2: Find the and between the curves
$$x = 3y + y^2 \in (pandola)$$

(line)
STEP1: Draw the curves & find $a \ge b_{1} = psints$ where the 2
curves met.
Netter of the pandola $\frac{dx}{dy} = 0 = 3 + 2y$ so $y = -\frac{3}{2}$
 $x = 3(-\frac{3}{2}) + (\frac{3}{2})^2 = -\frac{9}{4}$
 $y = intercepts$ $x = 0 = 3y + y^2 = y(3+3)$ mo $y = 0 \notin y = -3$
. Line: x-intercepts $x = 0 : 0 + y + 3 = 0$ mo $x = -3$
 $y = intercepts$ $x = 0 : 0 + y + 3 = 0$ mo $x = -3$
 $y = intercepts$ $x = 0 : 0 + y + 3 = 0$ mo $x = -3$
 $y = intercepts$ $x = 0 : 0 + y + 3 = 0$ mo $y = -3$
Line: $x = intercepts$ $x = 0 : 0 + y + 3 = 0$ mo $x = -3$
 $y = intercepts$ $x = 0 : 0 + y + 3 = 0$ mo $x = -3$
 $y = intercepts$ $x = 0 : 0 + y + 3 = 0$ mo $x = -3$
 $y = intercepts$ $x = 0 : 0 + y + 3 = 0$ mo $x = -3$
 $y = intercepts$ $x = 0 : 0 + y + 3 = 0$ mo $x = -3$
 $y = intercepts$ $x = 0 : 0 + y + 3 = 0$ mo $x = -3$
 $y = intercepts$ $x = 0 : 0 + y + 3 = 0$ mo $y = -3$
 $y = intercepts$ $x = 0 : 0 + y + 3 = 0$ mo $y = -3$
 $y = intercepts$ $x = 0 : 0 + y + 3 = 0$
Seems easier to use horizontal strips: $f_2 : h(y) = 3y + y^2$ m $(-3 - 1]$
 $f_1 : P(y) = -3 - y$
(more at $y = -2$ $h(-2) = -6 + 4 = -2$
 $p(-2) = -3 + 2 = -1$ (m) $(-3 - 1]$
 $f_1(-2) = -3 + 2 = -1$ (m) $(-3 - 1]$
 $f_1(-2) = -3 + 2 = -1$
 $f_2(-2) = -3 + 2 = -1$ (m) $f_2(-3) = -\frac{1}{3}(-3) - (2y + 0^2) dy = \int_{-3}^{1} (-3^2 + (y + 3)) dy$
 $STEP 3:$ Use FTC
 $A = \int_{-3}^{1} P(y) - h(y) dy = \int_{-3}^{1} (-3 - y) - (2y + 0^2) dy = \int_{-3}^{1} (-3^2 + (y + 3)) dy$

$$= \frac{-4}{3} - 2y^{2} - 3y \Big|_{-3}^{-1} = \left(\frac{+1}{3} - 2 + 3\right) - \left(\frac{27}{3} - 18 + 9\right) = \frac{4}{3} us [3]$$

Q. What if we use rectical strips?



We must divide the regime into 2 parts, because the "top" curre is really 2 curres (top part of the side parabola & the line).

$$Ama = A_1 + A_2$$

STEP 1: Divide the picture by a restical line through A = (-2, -1)

STEP 2: Write the enclosing curves in terms of x.

$$y^{2}+sy-x = 0$$
 mp $y = -\frac{3 \pm \sqrt{9+4x}}{2} = -\frac{3}{2} \pm \sqrt{\frac{9}{4}+x}$ (2 solutions!)

• Top part of the penabola has function
$$y = -\frac{3}{2} + \sqrt{x+\frac{9}{4}} (x \ge -\frac{9}{4})$$

• Bottom $y = -\frac{3}{2} - \sqrt{x+\frac{9}{4}} (x \ge -\frac{9}{4})$
STER 2. It ETC to (1)

STEP 3: Use FTC to hind A, & Az

$$A_{2} = \int_{-2}^{2} \left((-3-x) - \left(\frac{-3}{2} - \sqrt{x} + \frac{q}{4} \right) \right) dx = \int_{-2}^{2} \left(-\frac{3}{2} - x + \sqrt{x} + \frac{q}{4} \right) dx$$

$$= \frac{-3}{2} - \frac{x}{2} + \frac{z}{3} \left(x + \frac{q}{4} \right)^{3/2} \Big|_{-2}^{0}$$

$$= \frac{2}{3} \left(\frac{q}{4} \right)^{3/2} - \frac{2}{3} \left(-2 + \frac{q}{4} \right)^{3/2} + \left(0 - \left(-\frac{3}{2} \left(-2 \right) - \frac{(-2)^{2}}{2} \right) \right) = \frac{7}{6}$$

$$A_{1} = \int_{-3/4}^{-2} \left(\left(-\frac{3}{2} + \sqrt{x} + \frac{q}{4} \right) - \left(-\frac{3}{2} - \sqrt{x} + \frac{q}{4} \right) \right) dx = 2 \int_{-3/4}^{-2} \sqrt{x} + \frac{q}{4} dx$$

$$= 2 \frac{2}{3} \left(\frac{x + q}{4} \right)^{3/2} \Big|_{-2}^{-2} = \frac{4}{3} \left((-2 + \frac{q}{4})^{3/2} - 0 \right) = \frac{4}{3} \left(\frac{1}{4} \right)^{3/2} = \frac{4}{24} = \frac{1}{6}$$
So have $= A_{1} + A_{2} = \frac{7}{26} + \frac{1}{6} = \frac{8}{6} = \frac{4}{3}$ (some as below!)